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Po = Pob + Db (4.1)
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Po = (4.2)
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a=b (4.3)
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(4.7)
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o0obo0ob0oobb0o0obob0o0bUd0b0bU0 abDbUOU0Ob0 eODbOObOUOUOD1OOODO
U0e, 00000DODOO0ODULOLOLDe, 00D OOUOU0bDbbOOObDDDbDObOODbDDO
O (unit vector) D000

33



040 0D00O0O1

042 0000

4.4.2 000000

oobOooooOooooooooboooboooboooobOooooboooooooobooobobooon
oooooooooooOoooooboo pPOOO0 000 QODOODOOOOOODDOOODOO
Oo00000O0opooood00ooo0rdx0000060yO0OO0O0O0wwOOOOO

0000000000000000%80000%000000000000000 v=(%,%)

. Or r
00000000 v=1lm —=—000000
5t—0 Ot ot

Q (x+6x,y+6y)

043 000000000

4.4.3 0OO00O0OO0OOO

Oo00o0ooooooooooOo00ooooo0oooooooooboooggéétoog évio
gboboobobooooboboooooboooooboobooonoo

0y = lim Oz _ dve
T st—0 Ot dt
vy duy
— -y _ 27y 4.

W50t T dt (4.9
a1 ov  dv
= im — = —
5t—0 Ot dt

34



040 0D00O0O1

O (vx+8vx,vy+dvy)

vy

044 0000000000

4.5 0000

4.5.1 0OD0O0O0OOO0OOOOOO

oo0ooooooooooooo0o0ooooooooooboboooOoooooooeonoOoOO
oooooosa0ObDe+0000000O0ODOODO w:é:%DDDDDDDDDDDDDD
goo 6wDDDDDDDDDDDDw:é:%DDDDDDD

gboboobooooboobooboobobooobobooboobooobooboobOobooon

4.6 UUO00OOOOOOOOOOOOOODOO

booboooomooooobooboboboboboboboooo+0obOobOobobooo
gboocobOoobooobOobooooooboooooboooobooooboboooboobooooaon
gbooooooboooobobooooboboooooboboboooobtoooboboobooonog
t+000000000D00000DO0O0O0

gboboboooobooobooooooboboboboooooboobobobooboooboon
gboboooocoooooboboboobooooooobooboboobooo+«obo0onono PO
ocooood 000000 r+600000D000DO0OOOOOOOOOOODOODOOO
U:(%,%)DDDDDDDDDDDDDDDDDDD a00oo0o0000ooooo0oooon
gboooooboooooob+¢:obobooooobooboooooboboooobobooog
t—dt,t+6t000¢00000000D0O0OODODODODOOOOOOO0O0OO0O0OOOOOO0

L+ &)2;;«(15 —6t) (410)

goooooo

gb:000000000000

00000000000000000000000000000000000000oo0oOog
feoo0000000o0ooooo

35



040 0D00O0O1

0 41: 000000000000000000

a0 (s) 0 0.16 | 0.32 | 048 0.6 0.72 | 0.88 | 1.04 1.2 1.36 | 1.52

1.68

YOO (m) | 788.0 | 785.1 | 757.0 | 701.4 | 628.6 | 570.1 | 535.7 | 527.1 | 542.0 | 610.3 | 708.9

778.8

gbooobOobooooobooog

0000000000000 0 (0)oo0oU0oooo0o0oooo0ooUooooOoooooo
00000000000000000000000000000O000000O0000 (DDODO0OO
0000oO0o000ooOo00)oo0000o0O0oU0ooO0o0ULOO0O0DUoOOoUoDooOoOoUOD
0000000000000 000000000U0000O0UOO0OUODODOUDoOOO (oo
uboboobooooobdboboobooooboboboboboboooboobobobon
oo0o0ooooOoOOOODODODOOOOO)O

042 00 100m0000000
O0m)| 15 | 25 | 45 | 50 [ 60 | 75 | 95 | 100

00 (s) | 5.98 | 11.35 | 21.71 | 24.42 | 27.64 | 37.21 | 48.28 | 50.80

4.7 U

uoboooobooobobooboooobooobooboooooobooobooooboooboooon
obobobobobooooooooobobobOobOoboooOoooooooboboboonoo
0000000000000 0000000000000000 (mechanics) 10000000
ooboobobooobooboooooooboooboboooboooobooobooooobooobooon
gboooboooboooboooboooboboooooboooooooobooooooooboooon
oboooooboooooon

0000000000000 U000000 (D000,00000,0000,00000.,ete)00
00000000 (000,0000000etc)00000O00OO

4.7.1 00O

00000000000000000000000000000000000000000F =ma
00000000000 0000000DO00000OO0O000OD (DOOO0ODO0OO),g9 =
-98(m/s) 000000000000 0DOUUOOOODOOOOODOOOODOOO

O0000O000000000 (center of gravity : CG)0 0000000000 OOOOO
O000o000O0000o00oO00oo0oo0ooooooo0ooo0ooo0ooo0ooooooo
ooooooo

4.7.2 000

O000000000000000000 (Hook’s Law)OOOOOOOOOOOOOOOO
0000000000 (00)0UODoO0o0o00o0U00o0U0oOoo0o0O0U kOOO0OOoDOOoDUOOoOoOUoo

36




040 0D00O0O1

gboboobooooooooboooooobobooboooooobobobobobon
gboooooboooooobooon

4.7.3 00O

000000000000000000000 (tension) 000000000000 OOOOO
gboboooboboboboooboboooobobooooobooboboooboboobog
gooooobooooogon

oobOooooooboooboooobooboooobOooboooooooobooooooboooon
gboabooboooboobobbooboaoboaboobooog

474 0O0O0OO

oboobooobooobooboboobobooooooooooboobobooooboooonn
gobooboooooobooooobooobooboboobooooooooboooboooobooon
0000000000000 00000000000O00O00000O00DUOooO0oooOoOn (o
0)00000000000000000000000000000O00DD00O0O0o0OoOO

gobooooooboobooooboobooooboooooboooboooboooboooon
gooood

4.7.5 0O0O0O

gobooooboooooobooboboooooooboboooooobooobboooooooo
goboobooboooooooboobooboooooooooobooooboooobooon
booboooobooboooobooboboobooooooooooooooooooooon
oood

00000 FOOOOO FyO0OOOOO0OO00000000 MDDDDF/:—MFNDDD
uoboodoepOoobOOOoOoOO0oO0obOOO0ObOOO00DbOO0O0ODbOO0O0OO0O0OOObOOODbOOn
gobooboooooobobooboboooooobooobooboobooobooboboOoooaoon
goooooboooobobooooboboooon

4.7.6 OO

0000000000000000000000 (drag) 0000

gobooboooboboooboooobOoooboobooooobooobooooboooboooon
oobooooboooobooobooobobooooooooobbooboooooobooobobooooon
gobobooobooobooboobbooooboooooboooooobooboooogoboOooo
gbooooooboooogn

4.8 00O

oboooooobooooooboboooboooobooooboooboooboooboboOooon
tbmoobooooboooboobobooooboooooboboooobooboooobooboon
0000000 (momentum) 0000

37



040 0D00O0O1

p=mv (4.11)
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p
a:F (4.12)
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